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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
lai 6960 2.1 0.9 3 71.5 99.8
1b 6722 2.7 1.3 6 44.3 96.4
1cii 6605 1.6 0.6 2 82.1 94.7
1civ 6450 1.1 1 3 38 92.5
1dii 6788 1.5 0.8 2 73.8 97.3
2ai 6935 0.7 0.4 1 74.2 99.4

2aiii 6768 3.1 1.5 8 38.7 97
2bi 6918 1.9 0.4 2 93.7 99.2
2biii 6915 2.6 1.3 4 64.7 99.1
2c 6492 0.8 1.1 4 20 93.1
3aii 3823 1.7 1 4 42.1 54.8
3aiv 3235 1.2 1.3 4 29.8 46.4
3bii 3613 0.2 0.5 2 8 51.8
4ai 3208 1.5 0.8 2 74.3 46
4aiii 3158 1.2 0.6 2 59.5 45.3
4bi 3090 1.5 0.7 2 76.6 44.3
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Band 1 - simple statements showing limited and basic
understanding of wildlife corridors.

Total: 11/28
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Text Box

Band 1 - simple statements showing limited and basic understanding of wildlife corridors. 

Total: 11/28















Band 2- Some understanding of wildlife corridors but lacks
reference to an example.

Total: 22/28




Rachel

Text Box

Band 2- Some understanding of wildlife corridors but lacks reference to an example.

Total: 22/28
















(iii)  Explain why wildlife corridors are successful in managing habitats. Use an
example you have studied in your answer. [6]






Additional space for question 1(d)(iii) only:

End of Question 1
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2. (a) (ii) Describe the relationship between water consumption and

population. Use data in your answer.

3
-~ AN S —
Q| 0| Ol Q| & o
| < | <| <] <|
3 3

Band

Marks

Descriptor

2-3

Description of the relationship
between water consumption
and population.

Data from the graph must be
used for full marks

Overall relationship given but
with very little detail. No
reference to data.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

As population increases, so does water
consumption. As the rate of population
increase gets steeper so does the rate of
water consumption. For example, in 1950
the population was 2.4bn and the water
consumption was about 1,400bnm3
whereas in 2010 the population had risen to
6.8bn and the water consumption was 4,400
bn m3.
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Band 2 - Identifies relationship and begins to discuss relative rate of
increase.




Rachel

Text Box

Band 2 - Identifies relationship and begins to discuss relative rate of increase.










Band 1 - Identifies relationship but
incorrect data used.




Rachel

Text Box

Band 1 - Identifies relationship but incorrect data used.






















(ii)

Describe the relationship between water consumption and population. Use data in
your answer. [3]




















































2. (a) (iii) Choose the factor which, in your opinion, has had the >
greatest impact. Justify your choice. | ~
S 2| o=l 3|8
Q| Q| O| Q| o| ©
< <) <| <| <| F
8 3| 11

Band | Marks

Descriptor

Balanced analysis and
sophisticated justification of
choice using chains of
reasoning.

A range of detailed and
elaborated points are made.
Meaning is unambiguous. The
response has clear purpose, is
fluent and logically structured.

Elaborated analysis and
reasoned justification using
chains of reasoning.

Some imbalance in the
discussion.

Meaning is clear. The response
has purpose, is organised and
well structured.

Valid but limited analysis and
simple justification.

Valid points are made for or
against the priorities. Some are
elaborated.

Meaning is generally clear. The
response is structured.

Basic analysis and judgment
Valid but basic points are made
with no elaboration.

Meaning may lack clarity in
parts. Statements are linked by
a basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Band 4 responses will show a clear choice
of factor with the greatest impact and
detailed justification why this was their
choice. Candidates will also analyse the
other factors and indicate why these were
not their choice.

Example:

Agriculture by far uses a lot more water
than any other industry or for domestic use
which is why | think this is the factor which
has the greatest demand on increasing the
demand for water. As agricultural
techniques change to more intensive
farming (leading to more crops being
grown on small land areas) the one
component that is needed in vast
quantities is water. Hydroponics for
example rely on large quantities of water
being continually supplied to the plants.

It is true that as population grows then so
does the demand for domestic water use
but this is still a small fraction of the water
that is used for agriculture. It may well
cause pressures at a local level, but
globally it is less of a demand than for
agricultural use.

The more products we use will also
increase water use during the
manufacturing process or in obtaining the
raw materials. However again this is far
less in quantity than the amount used in
farming.

| therefore choose the changes in
agricultural processes that could be more
irrigation and intensive farming will have
the biggest impact on increasing the
demand for water.

© WJEC CBAC Ltd.
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Band 2 - Valid but limited analysis. Decision made.




Rachel

Text Box

Band 2 - Valid but limited analysis. Decision made.










Band 1 - Basic analysis with no elaboration. No alternative point of view given.




Rachel

Text Box

Band 1 - Basic analysis with no elaboration. No alternative point of view given.










Band 2 - Valid but limited analysis. Once side of the
argument given




Rachel

Text Box

Band 2 - Valid but limited analysis. Once side of the argument given
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(iii)  The three factors listed below have all played a part in increasing the demand for water.

Population Growth of Agricultural
Growth Consumerism Change

Choose the factor which, in your opinion, has had the greatest impact. Justify your
choice. [8]

The accuracy of your writing will be assessed in your answer to this question. [3]

13
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2. (b) (iv) Explain why global trade has contributed to uneven patterns of >
development. - | o _
Q| Q| O| Q| | ©
| | <| <| <|
4 4

Use the descriptors below, working upwards from
the lowest band.

Band | Marks Descriptor

Good explanation that
shows clear understanding
of the link between global
trade and uneven patterns
of development.

Simple statements with
some merit. Limited
understanding.

Award 0 marks if the
0 answer is incorrect or

wholly irrelevant.

For band 2 candidates need to show a clear link
between global trade and its impact on
development contributing to uneven patterns.

Examples:

Global trade is not equal between countries and
can lead to uneven development both between
countries and within a country.

Generally, HICs export more manufactured goods
than raw materials whereas many LICs export
more raw materials than manufactured goods. As
there is usually more profit in manufactured goods
then HICs tend to benefit and develop at a faster
rate due to a greater income. This therefore leads
to a difference in rates of development between
the two countries.

It can also have an impact within a country. For
many LICs there are regions in the country where
the majority of its exports for global trade occur.
E.g. the south of Ghana is richer than the north
which is partly due to it being the main area of the
country for exporting goods.
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Band 2 - Good explanation that shows clear understanding of the
differences in global trade and how this contributes towards development.




Rachel

Text Box

Band 2 - Good explanation that shows clear understanding of the differences in global trade and how this contributes towards development.










Band 1 - Simple statements with some merit.




Rachel

Text Box

Band 1 - Simple statements with some merit.










Band 1 - Simple statements with some merit




Rachel

Text Box

Band 1 - Simple statements with some merit
















(iv) Explain why global trade has contributed to uneven patterns of development.  [4]















































2. (c) Give one economic and one social reason why there are
differences in economic development between areas within the UK.

AO1.1
& 1 A01.2
AO2
AO3
SPaG
& | Total

Award one mark for each valid reason and a | Economic reasons may include:
further mark for the elaboration. 2+2 only
London is a global centre for finance (1) therefore
attracts head offices of large businesses (1)

Many of the manufacturing hubs in the North have
declined (1) therefore leading to closures of supporting
businesses and loss of jobs (1)

Social reasons may include:

The M4 corridor has many top universities located
along it (1) therefore providing a highly educated
workforce which attracts businesses. (1)

The SE of England is more attractive to an educated
workforce (1) due to perceived better quality of life in
terms of healthcare & leisure facilities etc (1)

End of Question 2
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Total 25/31
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Total 25/31
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Examiner
[
() The term north—south divide refers to the inequality in social and economic o
development between southern England and the rest of the UK.
Give one economic and one social reason why there are differences in economic
development between areas within the UK. [4]

Economic reason

End of Question 2

17

© WJEC CBAC Ltd. (3110U20-1) Turn over.














































3. (a) (iv) Explain why changing social factors affect population >
structure in South Asia. - | o | _
< <o =l 3| 8
Ol Q| Q0| Q| o| ©
< | | < <
4 4

Use the descriptors below, working upwards from

the lowest band.

Band | Marks

Descriptor

Good explanation of why
changing social factors affect
population structure applicable
to South Asia. The link
between a change in social
factor and population structure
is clear.

Simple statements provide
weak explanation of at least
one social factor that affects
population structure. Link is
unclear or absent.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Band 2 candidates must give clear
explanation as to why changing social
factors affect population structure in S
Asia. .

To gain full marks, more than one social
factor should be considered.

Examples:

The change in population structure for S
Asian countries can be explained by a
number of factors. As the education of girls
is given a higher priority and girls receive a
better education, then women are more
likely to enter employment before starting a
family. As such this reduces the number of
child-bearing years and so overall each
woman has less children. This has an
impact of reducing the percentage of
children in the overall population structure.
The greater accessibility and acceptance
of birth control will also lead to a lower birth
rate and again a reduction in the number of
children in the structure of the population.
Improved health care provision in many S
Asian countries reduces the death rate and
as such the structure of the population
sees an increase in the proportion of
elderly people. The improved healthcare
helps to limit the number of people who die
from diseases etc.
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Band 2 - Good explanation of why social factors relevant to S. Asia
affect population structure.




Rachel

Text Box

Band 2 - Good explanation of why social factors relevant to S. Asia affect population structure.










Band 1 - Simple statements providing weak explanation and
weak link to the structure.




Rachel

Text Box

Band 1 - Simple statements providing weak explanation and weak link to the structure.










Band 1 - Simple statements with weak explanation.




Rachel

Text Box

Band 1 - Simple statements with weak explanation.
















(iv) Explain why changing social factors affect population structure in South Asia. [4]































































































































































































































1. (b) Compare the value of using ice cores as evidence of climate >
change with another source of evidence. - | o ol _
Slslalgl 3| g
Q| 0| Q| Q| &| ©
< <) <C| < <) =
6 6

Use the descriptors below, working upwards from

the lowest band.

Band | Marks

Descriptor

Comparison of the value of ice
cores and one other piece of
evidence used to indicate
climate change. Comparison
uses chain of reasoning.
Comparative language is
evident.

Meaning is clear. The response
has purpose, is organised and
well structured.

Some comparison of how ice
cores and one other piece of
evidence can be used to
indicate climate change, but one
piece of evidence is mainly
descriptive.

May lack detail or imbalanced.
Meaning is generally clear. The
response is structured.

Simple statements show limited
or basic understanding. Mainly
descriptive.

Meaning may lack clarity in
parts. Statements are linked by
a basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

For band 3 candidates must give a
comparison of how two pieces of evidence
are used to indicate climate change. Each
one needs to clearly show how it is
evidence and comparative language must
be evident.

Examples:

Scientists often use ice cores to detect
changes in temperatures. When snow falls
it traps air into the ice. When scientists drill
down deep into the ice to take a core of it
reveals the atmospheric gas
concentrations at the time the snow fell.
This is used to calculate temperature at
that time and so can inform if the climate
was warmer or colder.

This evidence is reliable as it is a way to
see back into past climates.

In comparison, monitoring glaciers can
inform us as to colder and warmer periods
of time as it is reasonable to assume that if
the temperature is colder then more snow
will form and the glacier will advance.
However this evidence does not give as
detailed information about the atmospheric
conditions at the time as ice cores do. Also
ice cores can provide information from
1000s of years ago whereas glacier
monitoring is only as far back as there are
records.
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Band 3 - Comparison of ice cores and carbon dioxide levels
compared through chains of reasoning. Comparative language
used.




Rachel

Text Box

Band 3 - Comparison of ice cores and carbon dioxide levels compared through chains of reasoning. Comparative language used.




















Band 3 - Comparison uses chains of reasoning and comparative language
but lacks the detail for top marks. Conclusion given.




Rachel

Text Box

Band 3 - Comparison uses chains of reasoning and comparative language but lacks the detail for top marks. Conclusion given.















Band 2 - Mainly descriptive, with weak comparison




Rachel

Text Box

Band 2 - Mainly descriptive, with weak comparison
















(b) Study the information about sources used to gather evidence of climate change.

Plant & Animal Fossils —
a record of the plants and
animals that have lived in

Temperature Recordings — the area in the past. Ice Cores—
comparing average a sample of layers of ice
temperature readings from where the gas composition
year to year. can be analysed.

Evidence for Climate

Change

Tree Rings (Dendrochronology)—
the size of the tree ring illustrates
the length of the growing season.

Monitoring Glaciers—
comparing the size of
glaciers from year to year.

CO? Levels —
comparing the amount of
carbon dioxide in the
atmosphere from year
to year.

04
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Compare the value of using ice cores as evidence of climate change with another source of
evidence. [6]

05

© WJEC CBAC Ltd. (3110U20-1) Turn over.

Examiner
only

3110U201

05










































































































1. (c) (iv) Suggest one factor that may influence microclimates across >
Greater London. Use evidence from the resources to support your - | ~ o _
— | —-|N| o 2|8
answer. NEIRIEIEIR:
| <) <| <| <|
3 3

Only credit one elaborated factor.

Credit any factor that influences microclimates

Band | Marks

Descriptor

One relevant factor given with
good explanation that shows
clear understanding of how it
influences microclimate in
Greater London.

One relevant factor given but
with very little explanation.
Limited understanding.

Award 0 marks if the answer
is incorrect or wholly
irrelevant.

Band 1 is for responses that name a
relevant factor but provide little explanation
as how they influence microclimate. For
band 2 the candidate offers explanation
and the detail of which determines where
in band 2 the mark is given. (Relevant
factor is one that can be applied to Greater
London)

Example:

Water can have an affect on microclimates
in that it can cool the air temperature
around it. The river Thames is a large body
of water and so will have the greatest
cooling effect at its widest to the east of the
map. The water will not emit the same
amount of heat as the buildings do and so
the immediate area will be cooler.
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Band 1: Relevant factor identidfied




penger

Text Box

Band 1: Relevant factor identidfied










Band 2 - Relevant factor given with good explanation and clear
understanding.




Rachel

Text Box

Band 2 - Relevant factor given with good explanation and clear understanding. 










Band 2 - Relevant factor given with some explanation




Rachel

Text Box

Band 2 - Relevant factor given with some explanation
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. Examiner
Satellite Image of Greater London only

3110U201

07

(iv) Suggest one factor that may influence microclimates across Greater London. Use
evidence from the resources to support your answer. [3]
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1. (d) (iii) Explain why wildlife corridors are successful in managing oy
habitats. Use an example you have studied in your answer. — | g =
~ ~ o
olala|d|8|s
| < | < | <| <]
6 6

Band | Marks

Descriptor

Good understanding of why wildlife
corridors are successful in
managing habitats. Good reference
is made to an example. Explanation
uses detailed chain of reasoning.
Meaning is clear. The response has
purpose, is organised and well
structured.

Some understanding of why wildlife
corridors are successful in
managing habitats. Might make
reference to an example but lacks
detail.

Response contains some
elaboration through chains of
reasoning but lacking detail or is
partial/imbalanced.

Meaning is generally clear. The
response is structured.

Simple statements show limited or
basic understanding. Meaning may
lack clarity in parts. Statements are
linked by a basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

For band 3 candidates are expected to show
a clear link between the creation of a wildlife
corridor and the successful management of a
habitat. Candidates should use an example
of a wildlife corridor to support their
explanation.

Examples:

Wildlife corridors link up areas of habitat
which have often become fragmented due to
human activity. If wildlife are unable to travel
safely between these habitat areas then
there is a risk population numbers may
reduce. By linking these areas via wildlife
corridors then animals can find food, water
and a mate more easily which will in turn
reduce the risk of extinction from the area. In
addition to benefiting the wildlife, wildlife
corridors also benefit local people in the
area. For example, a road could still be built
to provide social and economic benefits but
without affecting the wildlife population. E.g.,
the Banff Wildlife Bridges in Canada involves
a series of bridges 10-160m wide which
provides animals such as bears, moose and
deer to cross the Trans-Canada Highway
without harm or interruption to this vital route
of communication and trade.

End of Question 1
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Band 2 - Good explanation of why wildlife corridors are successful in
managing habitats. No example given.

Total: 22/28




Rachel

Text Box

Band 2 - Good explanation of why wildlife corridors are successful in managing habitats. No example given.

Total: 22/28






















4. (c) Management schemes aimed at preserving habitats are always
successful. How far do you agree with this statement? You may refer to

other examples you have studied.

AO1.1
AO1.2
AO2
AO3
Accuracy

o | Total

8

Use the descriptors below, working upwards from the lowest band.

Band

Marks

Descriptor

7-8

Balanced analysis and sophisticated
judgement using chains of reasoning. A
range of detailed and elaborated points are
made both for and against the statement.
Information in the resources and any
implications are interpreted and analysed
thoroughly and perceptively. Conclusion is
justified.

Meaning is unambiguous. The response
has clear purpose, is fluent and logically
structured.

5-6

Elaborated analysis and reasoned
judgement using chains of reasoning.
Some imbalance in the discussion.
Information in the resources is interpreted
carefully and used to good effect to support
the argument. A reasoned and valid
conclusion.

Meaning is clear. The response has
purpose, is organised and well structured.

Valid but limited analysis and simple
judgement. Valid points are made on one
or both sides of the argument but are
superficial. A few points are elaborated but
lacking in sophistication. There is valid but
limited interpretation of information in the
resource. Conclusion is made but is
simplistic and with limited justification.
Meaning is generally clear. The response
is structured.

1-2

Basic analysis. Valid but basic and
simplistic points made with little or no
elaboration. Basic conclusion is made but
no justification.

Meaning may lack clarity in parts.
Statements are linked by a basic structure.

Award 0 marks if the answer is incorrect or
wholly irrelevant.

Band 4 answers should show
detailed consideration of both
sides of the arguments with
sophisticated chains of
reasoning. To what extent must
be addressed.

Example:

If the right environmental
strategy is used appropriately for
the habitat, then | do agree with
the statement. E.g. tropical
rainforest in Borneo had
previously been destroyed to
make way for palm oil
plantations. The rainforest
clearance was motivated by the
income that was generated by
the palm oil plantations. As such
wildlife corridors would only have
limited use in this environment
as the areas being destroyed are
too large, being motivated by
income. A wildlife corridor would
not replace the lost palm oil
income. However, in using a
debt for nature swap the USA
has provided an income for
Indonesia on the agreement that
certain areas of the rainforest
are not destroyed. This protects
the delicate habitat and also
reduces the need for it to be
destroyed. As such this type of
environmental strategy, used in
the right environment is
extremely successful.

End of Question 4

3110U20-1 WJEC GCSE Geography — Unit 2 MS S23/CB
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Band 2 - Valid but limited analysis. Good use of resources without
extension of use.

Total: 12/24




Rachel

Text Box

Band 2 - Valid but limited analysis. Good use of resources without extension of use.

Total: 12/24















Band 3 - Elaborated analysis, gives more than one opinion but is not a
balanced answer. Good use of the resource.

Total: 15/24




Rachel

Text Box

Band 3 - Elaborated analysis, gives more than one opinion but is not a balanced answer. Good use of the resource.

Total: 15/24






















26

(c) Study the resource box below.

The Conservation and Management of Elephants in Kenya

Kenya Wildlife Conservation — Elephants

Year Number of Elephants in Kenya
e From 1973-1990 there was a large
1973 167000 reduction in the number of elephants in
Kenya.
1990 20000

* In 1990, conservation management was
2021 36200 put in place with the aim of elephants
having a “peaceful and beneficial
co-existence with people”.

* Anti-poaching teams have significantly
reduced the illegal killing of elephants in
the area.

» The conservation of elephants benefits
the whole ecosystem.

* Human population increase leads to
competition for land and water for the
elephants.

» Climate change is reducing the number
and size of watering holes in the region.

Management schemes aimed at preserving habitats are always successful. How far do
you agree with this statement? You may refer to other examples you have studied.  [8]

Examiner
only
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End of Question 4

END OF PAPER

27

© WJEC CBAC Ltd. (3110U20-1) Turn over.

Examiner
only






















































































































































































































































































































1. (a) (ii) Describe the trend in mean temperature shown on the graph.
Use data from the graph to support your answer.

AO1.1
AO1.2
AO2
AO3
Accuracy

w (Total

3

Award one mark for each valid point.
One mark reserved for accurate use of
data to support written observations.

Fluctuates (1) between inter-glacial (warmer) and
glacial (colder periods) (1)

The increase in temperature happens over a shorter
period of time (accept converse) (1)

Quantification for glacial and inter-glacial periods (1)
Anomaly (1)
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(ii)

Describe the trend in mean temperature shown on the graph. Use data from the
graph to support your answer. [3]
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only














































3. (c) International agreements have been successful in reducing the
movement of refugees. How far do you agree with this statement?
You may refer to other examples you have studied.

AO1.1
AO1.2
AO2
AO3
Accuracy

o |Total

8

Use the descriptors below, working upwards from the lowest band.

Band

Marks

Descriptor

7-8

Balanced analysis and sophisticated
judgement using chains of reasoning. A
range of detailed and elaborated points are
made both for and against the statement.
Information in the resources and any
implications are interpreted and analysed
thoroughly and perceptively. Conclusion is
justified.

Meaning is unambiguous. The response
has clear purpose, is fluent and logically
structured.

5-6

Elaborated analysis and reasoned
judgement using chains of reasoning.
Some imbalance in the discussion.
Information in the resources is interpreted
carefully and used to good effect to support
the argument. A reasoned and valid
conclusion.

Meaning is clear. The response has
purpose, is organised and well structured.

Valid but limited analysis and simple
judgement. Valid points are made on one
or both sides of the argument but are
superficial. A few points are elaborated but
lacking in sophistication. There is valid but
limited interpretation of information in the
resource. Conclusion is made but is
simplistic and with limited justification.
Meaning is generally clear. The response
is structured.

1-2

Basic analysis. Valid but basic and
simplistic points made with little or no
elaboration. Basic conclusion is made but
no justification.

Meaning may lack clarity in parts.
Statements are linked by a basic structure.

Award 0 marks if the answer is incorrect or
wholly irrelevant.

Band 4 answers should show
detailed consideration of both
sides of the arguments with
sophisticated chains of
reasoning. How far do you agree
must be addressed.

Example:

| think that international
agreements aimed at reducing
the movement of refugees have
limited impact. E.g., agreements
like the EU-Turkey agreement in
2016 has tried to limit the
number of refugees entering
Europe by limiting the number
that leave Turkey. However, this
has created issues itself as this
has led to a greater number of
refugees in Turkey and has
fuelled the illegal activities of
people smugglers into Europe.
The international agreements
tend to be amongst the receiving
countries rather than involving
the country of origin. Therefore,
as the ‘push’ factors are still
causing people to leave the
source country the international
agreements do little to reduce
the number of people leaving.
Whereas if countries such as
Greece put policies in place to
prevent refugees entering their
country, it would ease the
situation in Greece but
exacerbate the issue elsewhere.
| believe the only way to reduce
the number of refugees is to deal
with initial cause of the
movement.

© WJEC CBAC Ltd.
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(b) (i) State two factors that lead to people becoming refugees. 2]

(i) Give one reason why asylum seekers may want to leave some South Asian
countries. [2]

(c) Study the resources below.

Movement of Refugees from Turkey to the EU via Greece

R J Year Official Refugee
BULGARIA / Arrivals in Greece

—=

2014 43 300
‘%/ 2016 177 300
Lesvos 1314 c 2018 50 500
& cREEE 4~ & TURKEY 2020 15 700
ASN, a
%Chigi?g% V o d | Key:
NS m]\j o = .
other |s@$§271é’/ N A Circle size indicates
Samos 332 Kos 801 \\ \”f/{ SYRIA number of people
Crete 1867CIBD Kastellorizo 3
Rhodes 109 Symi 26
0 200km 5 ;
1 |

Fact File — Managing refugees into Greece
e The European Union (EU) had a large increase of refugees from 2015.
*  Some refugees from sub-Saharan Africa and Asia enter the EU by moving through
countries like Turkey to Greece (an EU country).
*  Many of these refugees came from Syria due to a civil war.
*  Greece set up temporary emergency accommodation for the refugees.
* In 2016 an international agreement between the EU and Turkey was signed — Turkey
agreed to discourage refugees moving to the EU in exchange for 6 billion euros.
* In 2020 Greece tried to stop refugees from arriving in the country by:
(i) Increasing border patrols with help from other EU nations
(i) Removing support for those granted refugee status in the country.

Examiner
only
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International agreements have been successful in reducing the movement of refugees.
How far do you agree with this statement?

You may refer to other examples you have studied. [8]

21
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Examiner
Additional space for question 3(c) only: on

End of Question 3
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4. (a) (iv) Explain why consumerism has led to a change in the >
amount of waste produced. - | o S| _
Q| O] O| Q| | ©
< | <) <| <| =
4 4

Use the descriptors below, working upwards from the

lowest band.

Band | Marks

Descriptor

2 3-4

Good explanation that shows
clear understanding of the link
between consumerism and the
amount of waste produced.

Simple statements provide weak
explanation.
Limited understanding.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Band 2 answers need to show the
candidate understands that an increase
in consumerism will lead to an increase in
domestic waste and clearly shows why
this happens.

Example:

Waste is created as part of the
manufacturing process, in product
packaging and from the product itself
once new models are released, and the
item is outdated. Therefore, the more
products that we purchase, the more
waste that is created, not all of which can
be recycled.
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(iv) Explain why consumerism has led to a change in the amount of waste produced.
[4]















































